Find the length of a
column vector
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Find the length of a column vector

1. Calculate the length of each vector.

a)(é) b)(g)
9 (T5) ) (5e)
) (4s) (%)

2. The length of vector a is 35 units.

a=(2)

Find the value of x.

3. The length of vector b is 75 units.

o= ()

Find the value of y
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Find the length of a column vector

4.r= (192)

Calculate the length of 3r.
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Answers
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Find the length of a column vector

1. Calculate the length of each vector.
5 : 9 :

a) (12) 13 units  b) (]2) 15 units

8) 17 units

c) (_1250)25 units d) (__15

e) (1) 234 units ) (17) 157 units

2. The length of vector a is 35 units.

a=(2)

Find the value of x.

x =28
3. The length of vector b is 75 units.
b= (21).
y
Find the value of y
y=72
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Find the length of a column vector

4.r= (192)

Calculate the length of 3r.

45 units
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